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if then
< >
end if
Direction 90
90

if my.Direction < 90 then

my.Direction = 90

end if
if then
1
else
2
end if
if then
1
elseif then
2
else
3
end if
elseif else
elseif if if
my.X == 20 my.Direction >= 90

—jL2

—jL2




if my.X <5 or 45 <my.X then
my.X =25
end if

if my.X > 45 and my.Y > 45 then

my.X=0
my.Y =0
end if
1
( hanabi)
Agt_Init{
my.X = 25
my.Y =1
my.Direction = 90
}
Agt_Step{

IT 30 == getcountstep() then
my.Direction = rnd()*360
elseif 30 > getcountstep() then

forward(1)

elseif 30 < getcountstep() then
forward(1)

End if

}

IT 30 == getcountstep() then
my.Direction = rnd()*360
else
forward(1)
End if

getcountstep()

Agt_Step



50%

IT 30 == getcountstep() then
If 0.5 > rnd() then

my.Direction = 180

Else

1
o

my.Direction
End if
End if
IT 40 <= getcountstep() then
turn(rnd()*20 - 10)
End if
forward(1)

X,Y,Direction
hanabi kaisuu

tori

If 30 == my_kaisuu then
Turn(rnd()*360)
else
forward(1)
End if
my.kaisuu = my._kaisuu + 1

Turn()
Turn(20) 20



Boolean True, False
Integer -4, 235234, 0, 690
Double 3.1415926, 3.33333
Long +20
String “Yamakage” “ "
Agt tori(id0),tori(id1),
AgtSet {toril, tori2}
AgtType tori, hito
Space oozora
hanabi (270)
90 270
(10,10)
30 50%
50%
if
if then end if
else elseif
if
rnd()
and or




